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GCSE Mathematics (Linear) 1380
Formulae: Foundation Tier

You must not write on this formulae page.
Anything vou write on this formulae page will gain NO credit.

f—a—
Area of trapezium = 1 (g+ bk
]
Volume of prism = area of cross section x length section
L i
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Answer ALL TWENTY SEVEN questions.

Write your answers in the spaces provided.
You must write down all stages in your working.
1. Here is an incomplete pictogram.

It shows the numbers of hours of sunshine on Monday, Tuesday, Wednesday, Thursday
and Saturday of one week.

vondsy | () (O (]
Tuesay | () ()
wednesday | () (O O

Key: O Represents 4 hours
Thursday O

Friday O O
4
O

sawiey | (O ()
d

Sunday

(a) Write down the number of hours of sunshine on Wednesday.

4x3 k2 hes

1)
(b) Write down the number of hours of sunshine on Monday.

Ay +2 lohrs
(1}

On Friday, there were 8 hours of suashine.

{c) Show this on the pictogram.

L
On Sunday, there were 6 hours of sunshine.

{d) Show this on the pictogram.
O Q1

(Total 4 marks) |

Turn T
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2. (a) Write down two pounds eighty pence in figures.

(b} Write down two pounds and six pence in figures.

(Total Z marks) \

3. (a) Writc down the mathematical name for each of these 3.D shapes.

@ (i) (i)

) (JL“%}D%A (i) S?hﬁm ....... (i) P}jrﬁimi&

&)
(b} Here is a solid prism made from centimetre cubes.
Diagram NOT
) S e aceurately drawn
1 em?
Find the volume of the prism.
DXL
% .
v ¥’

m 3

(Total 4 marks) T
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4. Here is a two-stage number machine.
It multiplies by 10 and then adds 3
Tnput ::> x 10 :::> +3 :::> Output
Complete the table.
Input Output
1 13
2 23 .
s [L53.| SxteFs
8 83 ii}c .. o
o] w133l
gl\
(Total 2 marks) ‘}
S,
Impossible Unlikely Even chance Likely Certain |
From the words above, choose what best describes the probability
(a) that the sun will shine in JTuly next year in London, L
Letiam..
0
(b} that the next baby to be born will be a boy,
Even.Chanie
m
(c) that there will be 50 days next month.
o N
Ampose: e
M los
™
(Total 3 marks) \
5
L 0 R0 0 OO Tuen over
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6. (2) Draw a circle of radiusS&n, T

Use the poigj;,@:ﬁmarked with a (X), as the cenm‘:.ma"f‘ypur eircle.

-
Leave
blank

R = 5Cm
Loy
A
/"/
T o)
e 'M’——«‘w
)
Centp
A
-”? K ALY
(i) On the diagram mark, with arrows (>>-), a pair of parailel lines.
0
(i) On the diagram mark, with a letter R, a right-angle.
1 Q8
(Total 3 marks) T
6

O A



. Complete this table by writing a sensible unit for cach measurement,

Metric Imperial
The height of a door Wit bre. feet
The weight of a man kilograms Sta‘ﬁ&‘)
The volume of water _?’L ailors
in a bucket e WG &

(Total 3 marks)

Leave
blank

. {a) Work out 57

SxS

1

{b) Find the square root of 3.24
a o8

{Total 2 marks) HE
. Here are the first four terms of a number sequence.
7 10 13 16

(a) Write down the next term in this number sequence.

(1

(b) Explain how you found your answer.

(1 Q0
(Total 2 marks) F"
7
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10. Here is a rectangle.
(a} Draw all the lines of symmetry of this rectangle.
@
Here is a regular pentagon.
(b) Write down the order of rotational symmetry of this regular pentagon. 5
0
Here is a shape.
(c) Write down the order of rotational symmetry of this shape. &
................................... 1 . 10
@ ot
(Total 4 marks) ’
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11. (a) Write down the temperature shown on each of these thermometers.

(D)
|
£
(i)
T — l
53 10 15 20 25 30 _°C
“""(f; o
2)

The table shows the {emperatures, in London, at different times on New Years Day, 2008

Time of day Temperature
6 am —3°C
10 am G°C
noon 2°C
2 pm 5°C
6 pm 4°C
10 pm —1°C

(b)y Write down the lowest temperature.

.°C
1
(c) Work out the difference in temperature between 6 pm and 10 pm.
7 T
4 ~ =1 = 3¢ -
et
ey}

{Total 4 marks)

Q11

¥
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12,
(a) What fraction of the shape is shaded? 55”
0
(b) Here is a list of fractions.
2 4 fs) 10 f3
10 20 20 50 10
Two of the fractions are not equivalent to %
‘Write down these two fractions.
i 1 oy
L. Nt 2
5 @«@ J;t} 5
-2 Nag 2 == . 3
5 7 s o 2 I

3
{c) Work out y of 64

B by = 3k B4 2 Bxb
“ iy
q{:{ V-g‘ éi"# p o @

{Total 5 marks)

Leave
blank,

Ve
R

S5 by = lbx3
GG 4%

10
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iﬁ}@ g g . Leave‘\
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13. Tulips cost 85p each. ©

Sara has £20 to spend on tulips.

She buys the greatest possible number of tdips,

(2) Work out the number of tulips Sara buys.

Sara pays with a £20 note.

(b) Work out how much change Sara should get.
SH 2B = (455 fe&mm‘;
"&jiﬁ = Leoo f

4

iJL\;&V\ﬂ& - Zé}é}i) - LQSS = (zp) 013

(Total 4 marks) T

)

14. The two-way table gives information about the subjects studied by 50 students.

Law Engineering Medicine Total
ale @ H 5 Lﬁ— ﬂ. 5
Female 5 6 i L% 25

Total 1 2.1 18 @

(a} Complete the two-way table.
()

One of these students is chosen at random.

(b) Find the probability that this student is male and studies Law.

P(Miaw) = & -ouz  _ 0ed2

Sf o 2 Qu

(Total 5 marks) i

il

N 3 6 7 6 0 A 0 1 1 2 4



Leave
biank
15. This conversion graph can be used to change between lifres and gallons.

f 3

50

40

Litres 30

20

19

C 1 2 3 4 5 & 7 8 9 10 11 12
Gallons

{a} Use the graph to change 50 litres to gallons.

il gallons
@

{b) Use the graph to change 6 galions to litres.

1 litre of petrol costs £1.15

(c) Work out the cost of 50 litres of petrol.

115 % 50 <{5T- 50 2150

(d) Work out an estimate for the cost of 1 gallon of petrol.

[ ot > 4.5 e T
YlB kb5 = 5-18 @ W

(Total 6 marks)

12

N 3 68 7 68 0 A O 1 2 2 4




Leavew
. blank
16. () Solve = =3 5 K X - A3x%
: 5
X =15 i5
b O TOROT R
®
{b) Solve 2y—4=9
&%»4+4:@+4 o
| 1% = 13 - 805
- i?} L 5 @ Q16
j {Total 3 marks)
17.
Diagram NOT
accurately drawn
ifordo
Work out the bearing of B from A4. o .
Et-4 ; : .
At 4180 = 220 ‘D;"D‘b Q17
{Total 2 marks) ‘
13
O 00 O o



18. Here is part of & train timetable for six trains from Birmingham to London,

Train A B C D E F
Birmingham | 0635 | 0700 | 0715 | 0730 | 0745 | 0800
London 0809 | 0839 | 0848 | 0904 | 0959 | 0939

{a) Which train takes more than 2 hours to go from Birmingham to London?
o

T4 45 =

(b) Work out the number of minutes taken by train D to go from Birmingham to

London.
T30 doc 904 q
i\\_}Mm_Mi \ﬁmﬂ,} L{’" minuges

GOmn Fwn @

Paula has to go to a meeting in London.
She will catck one of the six trains from Birmingham.
She needs to arrive in London before (9 00

(c) Write down the latest train that she can catch,

{Total 4 marks}

e
blank

018

2
1.5+2.45

Write down all the figures on your calculator display.
You mrust give your answer as a decimal.

19. (a) Use your calculator to work out

(b} Write your answer to part (&) correct to 2 decimal places.

- 0.5

{Total 3 marks)

Q19

14
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20. Mr Wither sells umbrellas.

The scatter graph shows some information about the number of umbrellas he sold and the
rainfall, in em, each month fast vear.

-
Leave

blank

Y
a0
P
50
24
40
Number :
of umbrellas By
30 : L
»
20
" 5 6V, . 7 8 9 0
bl R sintall in o
In Jannary of this year, the rainfall was €.1 cm.
During January, Mr Wither sold 32 umbrellas.
{a} Show this information on the scatter graph.
)
(b) What type of correlation does this scatter graph show? .
e Xosihve
1)
In February of this year, Mr Wither sold 40 umbreltas.
(¢y Estimate the rainfall for February.
s T —? P i
auapz’: T-T3 it o
(Total 4 marks) ’—l
A vy
15
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21. Tn August 2008, Eddie hired a car in Italy. % b e £ 125
The cost of hiring the car was £620 £ é g\ w! ]
The exchange rate was £1 =€1.25 U o &

(a} Work out the cost of hiring the car in euros (€).

G2 % |25 = 175

Eddie bought some perfume in Italy.

The cost of the perfume i Haly was €50
The cost of the same perfume in London was £42

The exchange rate was stili £1 =€1.25

@

(b} Work out the difference between the cost of the perfurne in Italy and the cost of the

perfume in London.
Give your answer in pounds (£).

€ Las ki
£50 —> !
50 2.25 =Fbe
Thaly v £ Ao
London ~ £ 4%

2 H@:’“{:‘m w= E-

(Total 5 marks)

-
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blank
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22, {a) Complete the table of values for y = 3x + 4 /f\

X

-2

-1

0

1

¥

-7

1

i

+

10

W =U

iﬁ."; Ao 4 ":""E"

(b) On the grid, draw the graph of y=3x+ 4

JJ

10

2)

@
{Total 4 marks)

Leave
blank

022
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AU 1 0 0 00O

17

Turn over



23. (a)

b

Diagram NOT
accurately drawn

% = 40

(1) Work out the size of the angle marked x.

(i) Give areason for your answer.

Anales. ak . pomb. add ...
e e e

3
L
Diagram NOT
accurately drawn
v
A - - B
N )
V&é 186~ 6% = H 2,
68¢
C W - D
ANB is parallel to CMD.

LNM is a straight line.
Angle LMD = 68°

(i) Work out the size of the angle marked y.

(i) Give reasons for your answer.

rodfife. ang 9 lea. care. %’/}«’i’y&uﬁ

4@ /%3 Jqfﬂemem%@ " '}Oﬁi”ﬁ‘i‘f&f

z,{ ¥ién o~ (Total 6 marks)

H+GO+IAD= 34D
* = 3o -{3er

Q23

ve
blank

7o)

5
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24. The equation
2+ 10x=25
has a solution between 1 and 2
Use a trial and improvement method to find this sofution.

Give your answer comect to one decimal place,
You must show all your working.

® =t

e
blank

[ 12 opfex| = il Cow -
2 2% ¢ lbx2 = 2% High

‘-f. i,53~{« lox1.5 = 18575 LM
Low .

(6> tlox1.6 =26.096
182 +iox 1.8 - 23%.832
1.9% +iox 1.9 = 25859
|35 ¢ ox 1.85 = 24 831

SR oo

1
oLy = T
oy

Low

Ihie
(o

& -

(Total 4 marks)

Q24

>

Low Low A= fhﬁh
f o 4
¥ t

a=ts  owsgs XA

AR OO R0 0
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25. There are some ribbons in a box.

The ribbons are green or red or yellow or white,

The table shows each of the probabilities that a ribbon chosen at random will be green or

red or white.

Colour

Green

Red

Yellow

White

Probability

0.15

0.30

0.35

(2} Work out the probability that a ribbon choser at random will be yellow.

P(‘Fi‘%’iiiaw} = |- {Ggiﬁ%@« 2o +0-35 )

There are 500 ribbons in the box.

(b) Work out the number of red ribbons.

-1 —0.8

Qad Fibhons = 0 30 X 500

-

e

{Total 4 marks)

~
Leave
blank

Q25
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Laa.ve\
s, blank
A
Diagram NOT
accurately drawn
B ()
ABC is an isosceles triangle.
AB=4C
(2} Explam why 3x—10= x+30 - . :
P ﬁrﬁ_c:......z;s.a.édffg-...;:,..@_.wigi@___@i:32%1&....ﬁm,_.m
‘ tgoal @
(b) Solve 3x—10=x+30
Ao~ —fo= X -+ 30
Sy —lp = 3O
2 :
;;ZI: _ﬂ;&‘f_ia . o ?‘i@
24 = 40
20 e
(Total 3 marks)
21
I



blank
27.

Diagram NOT
accurately drawn

6 cm
B N C
14 em
| bx h
ABC is a right-angled triangle. A‘ T —
AC=6cm. o
BC =14 cm.

(a) Work out the area of triangle ABC.

A’i"&&,'; 4 X6 - ?/’(»&;4*2”

@
(b) Calculate the length of AB.
Give your answer correct to 2 decimat places.

Pg%‘hc&j&ma *ﬁdawmm:; L
Af@l = B+ Ch
RV
p - \[232
- 15-2315

15.23
@

{Total 5 marks) i
TOTAL FOR PAPER: 160 MARKS
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